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Instructions :

&Hoy : ()

Note : (i)
(ii

Qanererayth. SFFOLSHED GapuiLiden, ieops sersrafiuureniep
g Languras Qgflellssayn.

2 Bob seey s6UY evlea WLEGW TYWHUSDGL,
S.Camy PaushEd LuaL(ss Cauardw. ULRI&GET auenfeusn@
Quénfler LWELBSSNLD.

(1) Check the question paper for fairness of printing. If there is any lack of faimess,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

LGS - 1/ PART - 1

Smens3 cfanssEna@h efeLwelissab. 15x1=15
Qsr@sslucHatar mren@ wrpn Sleorsaie Waab FhymLw
deoLows Csipds0sss G PLa daLlmayn Cersg
T(PSYLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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am Qudlapemufar Wl Guorawone Henaenus @flas Gamumo erg Lweru@GAng ?

(<21) Big W (<p) Big A (@) BigO (F) Big$'
Which of the following is used to describe the worst case of an algorithm ?
(@) BigW (b) BigA (¢) BigO (d) Big$S

2 (heuemoliy HHWOILLIG FT6| Ues eTeuaumy empssuulSng ?

(&1) Concrete datatype (=) Built-in datatype
(@) Abstract datatype () Derived datatype
The datatype whose representation is unknown are called as :
(a) Concrete datatype (b) Built-in datatype
(c) Abstract datatype (d) Derived datatype

eugsnan evdfiuieoL Quss apg ellesau SWss CauamBw ?

(1) F1 (4,) F& (@) F3 () F2 -
Which key is pressed to execute Python Script ?
(a) F1 (b) F5 (c) F3 (d) F2

Geeupd erg) g Qumper Qeliw Couangweng rorallsdng ?

(=1) Qe s (=) Qués ey
(@) figer Quwind () Qam@lumren
Which of the following defines what an object can do ?

(@) Interface (b) Operating System
(c) Interpreter (d) Compiler

saflall @aléd o eter euatigener wrd LTFencuWll LHML LLATLHES WL
Gremuamg euenFWeDUUBSHD @ urgaTiy Cgmdled mLub :

(=) Signed s HUuUT® (=) sLoyF Clamed

(@) erendsip (F) Sidsryo

Which of the following security technique that regulates who can view or use resources in a
computing environment ?

(a) Access control (b) Password

(c) Certification (d) Authentication
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déraugmaieteuppiat ey aygHenen gieLmén Qawp@d :
() <> (<2) () @ 0 (m) []

Which of the following, is the Slicing Operator 7

@ <> ®) {) © () ) []

@ugsraile Qurmener e (eurdgh Qowampemp e Siep&sLILREDS).
(1) wHOAB556 (@) @54

(@) srenymeursse (/) o

In Python the process of creating an object is called as

(@) Initialize (b) Constructor

() Instantiation (d) Destructor

GsrRssULLL ampen Ceupdsrors QusGausns, Weramaiaeupper sflwrer
gaons C5iHCsEssa 0.

if : print(x, "is a leap year")

(1) x/4=0 (<) x%2=0 (@) x%4=0 () x%4==0

Pick the correct one to execute the given statement successfully.

if : print(x, "is a leap year")

(a) x/4=0 (b) x%2=0 (¢) x%4=0 (d) x%4==

SELECT D& Lweru(id femanid ergl ?

(1) X () (@) 0 () T
What symbol is used for SELECT statement ?
(@ X b) o © @ (@

If List = [10, 20, 30, 40, 50] erafle
List [2] = 35 -eir eflenL. :

(1) [10, 20, 35, 40, 50] (<) 35, 10, 20, 30, 40, 50]
(@) [10, 35, 30, 40, 50) (/) [10, 20, 30, 40, 50, 35)
If List = [10, 20, 30, 40, 50] then List [2] = 35 will result :

(a) [10, 20, 35, 40, 50] (b) [35, 10, 20, 30, 40, 50]
(¢) [10, 35, 30, 40, 50] (d) [10, 20, 30, 40, 50, 35]
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11. CSV Gartunengy __ aretopd PRGN EDg.
(<) String, File (=ny,) Flat File (®) Random File  (rr) 3D File
A CSV fileis also knownason .
(d)  String File 1) Flat File () Random File  (d) 3D File

12, SQL -@ Wlaseyd Qurgiens LwatL@SsIURD sapp
(<) execute (<y,) cursor () commit (/F)  select
The most commonly used statement in SQL is

{a) exccute (b) cursor (¢} commit (d) select

13. Géraumb eusgrer @hyempulear QeeluS® ereren ?
for x in range (5):
if xw=2:
continue
print(x, end="")

()0134 ()012 (@) 01234 (/) 0123
What is the output of the following snippet in Python ?
for x in range (5):

if xwm2:
continue
print(x, end="")
@ 0134 b)) 012 {c) 01234 (d 0123
14. JPaTGF ueTRISMETL gamULL gheap sTLd SHeonle sramiss
uwenuB D).
(1) QurpaTser (<) @erLgpsd
(&) awerraena () Greg Cumirl
is a collection of resources assembled to create a single unified visual display.
(a) Objects (b) Interface
(¢) Graphics (d) Dashboard

15. @ gregsasda eerar graney auflesurssd Qeauw LweaTu@ clause ;
(=) GROUPBY (&) SORT BY (@) SELECT () ORDER BY
The clause used to sort data in a database :
(a) GROUPBY  (b) SORT BY (c) SELECT (1) ORDER BY
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uGE - 11/ PART - 1

GOy : eemeuCGuend Symi lanss@nse demLwalsaab. dam e 24 -&@
sLLmnuwnrs aillenwallsaea)n. 6x2=12

Note : Answer any six questions, Question No. 24 is compulsory.

16, &U6Y N(HEUTEHLD CUNS CTEIMITG) GTeNaT ?

What is abstract data type ?

17. eugsraie eerer uaGuy AswupElsd wree ?

What are the different operators that can be used in Python ?

18. GELQ T CTEHes ? SIFEN UMSEMGT 6T(YSI5.

What is searching ? Write its types.

19. Qewpsadler LaGaum cumasmen r(HsIs.

Write the different types of function.

20. Matplotlib -& 2 ¢ver STLALLRSFISD uessmaT ULIGWel(Hs.

List the types of visualizations in Matplotlib.

21. ugHerew wWHMIL uweawlY Frey LIFfsEw Qe Gu admar Caugur® ereram ?

What is the difference between Hierarchical and Network data model ?

22. CSV Gamly erenmmed eremen ?
What is CSV file ?

23, preysseT SiLLaumamildimbg mards Ldasmaty Hugugnatar e
org) ?

Which method is used to fetch all rows from the database table ?

24, eouggnen pop() Gewdandlen Lwenan CT(PSIS.
Write the use of pop( ) function in Python.
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u@$l - 111 / PART - 11
Gy : oCsebd Hm NeamssErsE oL welsseybh. eferr eram 33 -5
sLLmnuwng e wefldseab. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.

25. pure LPMW impure GFuHmPOD Caunupsss.

Differentiate pure and impure function.

26.  list -& 2 éem 2 HUUs@ET @G UbCam aflpenser wreme ? TBFFISETH
5([HS.

What are the different ways to access the elements of a list ? Give example.

27. Asymptotic gHuSE - GOy euenps.
Write a note on Asymptotic notation.

28.  if.else.elif perpu LweTLBSH GaTREFLUCL apeny eramsaiier Quilw erarTenents

ser@lylugpsrar Qurmssore Hrome eTQgs.
Using if..else. elif statement write a suitable program to display largest of 3 numbers.

29. UYenaumeauaraupern updl &HS TOSESET_ AL Ay GRLY euenrs.

(<3t capitalize( ) (<) swapcase( )
Write a short note for the followings with suitable example.
(a) capitalize( ) (b) swapcase()

30. euggraiier o&dl wHHD SPLGsmen erueuryy cueFLYLILMG ?
How will you define Constructor and Destructor in Python ?

31. Scripting QumBuller LwerurBser wWreney ?
What are the applications of scripting language ?

32. Where gonewr flovvsampfen Lwer erénar 9 Where speny uwatu@s Qm
DUSSTE SaldEDD CT(PFRILD.
What is the use of Where clause ? Give a Python statement by using Where clause.

33. SQL - e.arer TCL sl Lanenaener LM Sy @Huy euenys.
Write short notes on TCL, Commands in SQL.
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u@Gd - IV/PART - IV

GO0y : Simanss elansmanb@n ol walasa. 5x5=25
Note : Answer all the questions,
34.

35.

36.

() HTQ) SHANOTEHD cTeieuny QewBjgeunis? THEEEST_HLET eHleTHES5.
TRV

(<) @@ws CoLd erénpmd ereren ? TOEgsHM ALen eanéEs.

(@)  How will you facilitate data abstraction ? Explain it with suitable example.

OR
(b) What is Binary Search ? Explain it with example.

(1) input() wHmW print( ) Aewpsmpemer TRsHEET.HLE NeT6Gs.
SIVNG)

() wrdlufler uerdudaasamar erHSHEHTLHLM eeréEs.

(@) Explain input( ) and print( ) functions with examples.
OR

(b) Explain the scope of variables with an example.

(21) range() -én Grnéa eraiar ? TRSEE ST BHLen ellaré@s.

AVl
(<) Gemaumid 2 peyflere Quipsadls Gewpgdemer T@sHEsT HLen eflerses.
i) eLbs® (i) Qeu{pHge
(i) Ceumyur® (iv) sniredlwenr QUBESsD

(a) What is the purpose of range( ) function ? Explain with an example.

OR
(b) Explain the following operators in Relational algebra with suitable examples.
() UNION (i) INTERSECTION
(iii)y DIFFERENCE (iv) CARTESIAN PRODUCT
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37.

38.

ﬁ
iy

(1) SQL -1 samyser wranes ? @aubeuraidn@d s Leneangenet 61056,
(V60 G
() C++ Sl Goaren eruggnailen LRTLE safyseaar 6T (Y55,

(@)  What are the components of SQL ? Write the commands for ecach.
OR

(b) Discuss the features of Python over C++.

(=) ougsraile em Carleu uglughare LOGauy afipapamer eTWHEs.
VG

(<) Matplotlib flengulier sTemILBL LOCuY Aurgsransmar eNaTEESE.

(@) Write the different methods to read a file in Python.
OR

(b) Explain the various buttons in a matplotlib window.



